N = 0l & At & Ml A

2A4: MEIEDL
HH: YR K4
e =23 243 € Hxo 54 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SRS E=n} 19,254,694 10,877,628 8,377,066
= 5,095,000
Jl 432,676
& 236,252
Al 13,490,766
Mo 4 16,252,308 8,820,354 7,431,954
= 5,095,000
J| 432,676
& 236,252
Al 10,488,380
H=23 483 € H=xo s4 5,061,702 4,671,501 390,201
J| 432,676
o 206, 152
Al 4,422 874
MNEAL2ESHIE 29 2,242,897 2,212,769 30,128
= 66,000
Al 2,176,897
101 e1214| 15,757 14,883 874
04 J|12tHIZ22NEES 15,757 14,883 874
O XNTR2=FIE 2EEZQLR ol (1H) 12,114
O 9z & g25dE 2,203
O 44 282 1,440
201 gEt24y| 20,672 33,672 A 13,000
02 E2=2=24%H| 20,672 33,672 A 13,000
O Agodw Jt A3Hl 3,000,000 = 2J0 6,000
O g=4a 2eldl 250,000& = 40HS * 128 12,000
O &= AIE83H |Xd] 2,000
O 28 MRPA SR3 56,000& = 12& 672
301 et A= 2,200,968 2,158,537 42,431
= 66,000
Al 2,134,968
Vo= - 2sSESEAMZ 2,120,968 2,078,537 42,431
O ME2EHIE oAy 1,806,650
& 66,000
Al 1,740,650
O HAR 258F 29 64,078
O 842 2E8E 79 42,440
O Z2UUs s&8H =2 79,200
o HASL 120,000 *11H x5 «63| 39,600
0o FMNE 120,000 * 11X x5 x63| 39,600
O ME2EHIE 8Xzd 99,000
o HAEZL 26,400
0o FMNF 72,600
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R s R SE=an);
FM: HsdE 84
& ME23 243t ¢ s |4 (&)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
O Agesd)s 854 240
800,000&  229H 17,600
O XX ¥ d= diel &84
2,000,000& * 22 * 3H 12,000
12 J|IEBHE4 3 80,000 80,000 0
O Yatmaa 80,000
405 TtakF S 5,500 5,677 AT
01 et EFSFHSHI 5,500 5,677 AT7
O AE2SZIR =4 E57L 5,500
o dFH 1,000,000 * 2CH 2,000
o =7 720,000& = 204 1,440
o DI 200,000& =« 1CH 200
o W& 1,000,000 * 1CH 1,000
o oA 490,000& = 1CH 490
o MIlgE 370,000& * 1CH 370
d=3R2 MsUa X3 563,327 546,866 16,461
101 14l 8,807 8,846 A 39
4 D12t ZE2XREES 8,807 8,846 A 39
O d2IRL M=EU3E Nz #2L o2
68,800 x4 22 «163] 8,807
201 L2l 50,000 0 50,000
01 At 22l 50,000 0 50,000
O 2019 g5 &3¢ AHUFRHE EHYS 24| 50,000
307 Qi2tol & 504,520 538,020 233,500
02 It S AIHE L 504,520 538,020 /33,500
O d32U3 |FIIXNIS 100,000
O d30s & XAH 43,000
O H12g dM4MsH 8= HIS2S2H 10,000
O M3l AAMAIEI 83HKNOFAUE 40,000
O HM22z AMENHF =S AHLIANE 11,000
O H163 AMAATH d=2EEAUE 20,000
O H163 NSRRI BIESL=US 8,100
O HM9sl AMAIEI EZROEO d=2HE 9,000
O M43 #Feldl 8= ESIEHa 22,500
O M43l ALAIEH d@=2Z U3 10,000
O 2019 MAX FC 10,000
O HM103 AMAEH =550 xE SFUS 10,000
O H8sl AAAIZH dZFQleteltisl 20,000
O HM182] 2 AtOtetHl & =0l=HILIATHZ] 7,920
O HM3al AAAIEI HMIclE0k2UE 8,000
O HM3a IS Z2AHH = U3 10,000
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R s R SE=an);
3 MsaY |4
& ME23 243t ¢ s |4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 26,290
Al 68,010
307 glz2tol & 94,300 94,300 0
< 26,290
Al 68,010
02 It M AHE X 94,300 94,300 0
O dzaHsus 29 54,300
< 16,290
Al 38,010
O Oistelzet MEXs 243 AtY 40,000
= 10,000
Al 30,000
MEHSXNEA SsX 59,720 0 59,720
< 17,916
Al 41,804
307 gl2tol & 59,720 0 59,720
< 17,916
Al 41,804
02 It M AMHE L 59,720 0 59,720
O 2019 MEMs 2EXNEX 2 59,720
= 17,916
Al 41,804
FAE 27w 29 10,140 10, 140 0
< 3,020
Al 7,120
307 21201 A 10,140 10, 140 0
< 3,020
Al 7,120
02 QB LA EX 10,140 10, 140 0
O 7ad E=7ud 24 10,140
< 3,020
Al 7,120
ANAXNESHHAL M= X2 475,452 203,902 271,550
202 04l 33,920 33,920 0
01 = LH A HI 33,920 33,920 0
O HMsdsEl dRF& 0l
140,000& = 19% » 12&8 31,920
O 22 MsdA & HE2SZIIR Ual &t
2l ol 2,000
203 YR =] 1,000 1,000 0
03 Al =AY 2= 1,000 1,000 0
O HESXEW AIHZ=A 1,000
307 gl2tol & 440,532 168,982 271,550
02 It HAMHE L 440,532 168,982 271,550




M HSXED
3 sNtg 24
ool MS2s 245 2 AS 4 (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O det=-ds &8 Xd 10,000
O HM203 UAALAIZH HEOHa 6,000
O 2019 ASEHMIIE &85 23 15,000
O HI173 AAAIEE SS=8 W3 3,500
O H183| 2AALAIZD| =<2l OFRUHE 7,000
O 2019 L AFAIEEE BT 3 1,800
O H31g M=dX0ictEUHS &= 7,000
O H203 2LUALAIZHY EHRAEZTHE 6,000
O HI233 «AALAIEIl HOIEZ2UE 4,000
O H203 AXAIEDI| BHECIH S 9,000
O H133 AAAIEI HHLIBH 3 4,500
O HM113 LAAIZH ME22HAWI 1,800
O H153 AAAIED] E=EF20THS 10,000
O H163 AALAIEH & Y S350 &2 4,000
O HI3a AUAAIZEI HHEAN ERUF 5,000
O HI83| UAAAIZD| ZAHHS 4,950
O M9l AAMAIEE MA=2E HAMSAHUHG 4,000
O HI43 AAAIED S#=lLis 2 Sati 3 4,000
O H6al LAAIED =042 225350l
tHal 4,000
O H183 A AFAIEH AlCIBIS OS] 6,000
O HI373 2ALAl OIAMESFUE 3,000
O HM33 LAAIEH HesE=2gIU3 5,000
O 2019 Y&tAl A2 E S352 =X 3 2,882
O HM33 HEHOIE= U3 3,000
O HI53 AAAl 2 2HH EFRUE 5,000
O HI533 LUAAIEH =302 HLULAWUE 8,000
O YAAl HEE BIE sS4 HOEZEUI 5,000
O Hi6al LAl SHOIS HOIE=U S 5,000
O 2019 L AHAIEEE Ol=& R UHS 3,000
O 2019 2L ALAIZHE Ol=HIS WS 2,000
O 2019 UAAIEH Ol== R U3 2,000
O 2019 A A&AIEH M=0I=HLIAS 2,000
O 2019 LAMAIEH Ol S 3,500
O H563 de=E2d=sUs &8 273,600
ZOHe M=sRE=E 115,700 70,900 44,800
307 212t0| & 115,700 70,900 44,800
02 AABMAEE X 115,700 70,900 44,800
O HI3Q3 =soteld=sts &4 6,200
O HI93l AAtAI2IE AU M=FHO0HC ERLS 15,000
O H143 LA EB &= E2=U3 18,000
O HM373 d= XNMEOMC MSUHI A 5,000




R s R SE=an);
3 MsaY |4
ol As2s 248 U M S4 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O 2019 Hoiel St0ts ™A=l EX 500
O 2019 NE=HMEMA OtctEU ot 1,000
O H163 M2 H=0l d=30tAEWUS 30,000
O d=ZoHelthal =& XA 10,000
O Het=zZoeldtis &8 Xl 10,000
O AaAl B=HOHCIHHERIEHE 5,000
O Hdet=2k Zied=sis A 15,000
MEHE =53 29 77,546 0 77,546
= 23,294
Al 54,252
307 glz2tol & 77,546 0 77,546
< 23,294
Al 54,252
02 It M AHE X 77,546 0 77,546
O 2019 MEH=s 5221 2F 77,546
< 23,294
Al 54,252
AXZTAMOISHAH 330,880 337,280 A 6,400
J| 231,616
< 49,632
Al 49,632
301 et a s 330,880 337,280 A 6,400
J| 231,616
< 49,632
Al 49,632
01 MEIBEE 263 330,880 337,280 A6,400
O AZ= 2H 0/2A 330,880
J| 231,616
< 49,632
Al 49,632
Lot XS X =X HH X 160,848 128,040 32,808
J| 80,424
Al 80,424
307 gl2tol & 160,848 128,040 32,808
J| 80,424
Al 80,424
02 IZtE M AIHE L 160,848 128,040 32,808
O et EX = Xl S Xl X 160,848
J| 80,424
Al 80,424
HEAMEXNSXECI HEX 241,272 179,256 62,016
J| 120,636
Al 120,636
307 glz2tol & 241,272 179,256 62,016
Jl 120,636
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2A HEdE
3 MsaY |4
S MSAE =25 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 8,000 0 8,000
< 5,600
Al 2,400
01 A& HI 8,000 0 8,000
Ouetadzg 28I+ £X 8,000
< 5,600
Al 2,400
402 RIZ2HXt20l ™ 35,000 0 35,000
< 24,500
Al 10,500
02 RIZEXt 2 AL EZ (01X TS ) 35,000 0 35,000
O get2stdly 2321+ &1 10,000
< 7,000
Al 3,000
O MSHOESE st&4 JIsEY 25,000
< 17,500
Al 7,500
HUASEZEAY 3,600,000 1,500,000 2,100,000
as 1,300,000
Al 2,300,000
401 Al HIZ 201 8] 3,600,000 1,500,000 2,100,000
as 1,300,000
Al 2,300,000
01 A& HI 3,600,000 1,500,000 2,100,000
O OtsHUASE &AM 3,600,000
s 1,300,000
Al 2,300,000
N2 O=s8 sz A8 3,395,000 2,255,000 1,140,000
s 1,395,000
Al 2,000,000
401 AIEHI L 20 3,395,000 2,255,000 1,140,000
s 1,395,000
Al 2,000,000
01 A& Bl 3,395,000 2,255,000 1,140,000
O M229 USsH Ms2 28 3,395,000
s 1,395,000
Al 2,000,000
Ho9sl M= (HOHMAE MzIIE x8E AX 400,000 0 400,000
401 Al HIZ 201 I 400,000 0 400,000
01 A& HI 400,000 0 400,000
O Mogsl H=(H0HL)MA Al
g £ M ¢ &X 400,000
AMOIRE B - BEL3A 1,000,000 0 1,000,000
401 AIEHI L 20HEI 1,000,000 0 1,000,000




R s R SE=an);
3 MsaY |4
SR HSAE 25 (29l 8)
4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 1,000,000 0 1,000,000
O Yuao2d E - 22 A 1,000,000
QI AFAl BIA OLJHOIOI AHE 1,500,000 0 1,500,000
ras 1,500,000
401 Al HIZ 201 8] 1,500,000 0 1,500,000
s 1,500,000
01 A& HI 1,500,000 0 1,500,000
O AbtAl HA OFIHOIOI HE 1,500,000
s 1,500,000
OIAAl AUOFREE HE 900,000 0 900,000
s 900,000
401 AIEHIZL 20 900,000 0 900,000
s 900,000
T AIZHI 900,000 0 900,000
O &HAl ALHOIRASE AHE 900,000
as 900,000
HEANELEY 288 2 2,953,518 2,012,066 941,452
HMsAE X2 2,953,518 2,012,066 941,452
SEE2sE RA B+ 239,752 155,897 83,855
101 @124l 9,312 20,317 A 11,005
04 JIZHHZ2XNESE+ 9,312 20,317 A 11,005
O FFIT ¢ BXYIF B0 HEEY
68,8003 x10H 32 33| 6,192
O =201® 2 SXHINE =8 ZEX
Ol = & e 80,0003 +5H 3 +23| 2,400
O FFIT L BXYIF B HESY
80,0003 *3H x 12«33 720
201 Let24d] 216,615 125,917 90,698
01 At 2teltl 70,460 20,090 50,370
O st&d 238 & 283 7Y 12,720
o XIS (1004 )
4,0008 * 150% = 128 7,200
o &K 36,000& » 104X+ » 12& 4,320
0 JIEHEAES ¥ A2F 1,200
O =D 2el(2d & 2teldl)
45,000& * 3CH = 128 1,620
O HJ|etd e i 84 W=l
100,000 * 1H 100
O HI|erA &AL X 2eln Kl
230,000& = 19H 230
O sgordpe (g 29
990,000& = 12JH& 11,880
O AgotM 2| X W=l 200,000& * 13 200




SN HSUED
Hu: HSALS 5BF 29
Sl HEAE RNz

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O 2+F3x Ea
20,0003 = B0E * 2o * 13 3,200
O JHeldt=, 2.E2 X & W= 100
O d==x & 965,000& = 23l 1,930
O =&t 2d 8F us| 80
O RoFHESAHI(CCTV £ ELUSHAUUEE)
550,000& » 12& 6,600
O AN&=S tdga HYUHNMHEH E2A 20,000
O AEs otMH A FIIorM A 2 (56HetD]) 1,100
O HEga HI|otEF 2 (dt8HD]) 1,200
O &I ¢tdEd el 249
250,000& = 304 » 123 9,000
O s2J ¢d2e| Xt W=l 50
O &2J1 I3 AHl 150,000& » 3L *13) 450
02 =24l 146,155 105,827 40,328
O Rotiel sX2&eldl 1,000
O &IB(LErE) 102,790
o JlE2= 7,200& = 600kw » 122 51,840
03, 85& = 30,000kwh » 5& 12,750
o 08 1143 = 31,000kwh * 33 10,602
0o A2 1143 » 40,000kwh * 43 18,240
o 2ItAM 93,576,000& = 1/10 9,358
O &ILRI(IHES) 150,000& * 12& 1,800
O &CIZI JIH KA 2L 300,000& = 1CH 300
O HHE(H=x= 8) RFFL(FLR) 210
O HIIJI=el 8l 100,000& * 12/ 100
O HIINES AR 2,800,000& = 13l 2,800
O E1ng = Hid sX2e
1,000,000 * 14 1,000
O A=AHIILH KX 2el 1,000,000 * 14 1,000
O dExXb(E2232E)
1,000,000 = 14! 1,000
O SEESAE |2l
1,000,000& * 14 1,000
O 48 & SHi+=EHIZ 72
1,000,000 * 14| 1,000
O gdx= HaEE NIIRE=S
100,000& =+ 33l 300
O &S M (QBLHEE 2 170H) 21,602
O nssey 23 10,253
o F=&J& 550 *13,683.82m x0.96+50/ 100 3,613
o U=
550 *18,978.93m" x0.96+50/ 100 5,011
o SEMEAHL
550 %6, 167.33m *0.96%50/ 100 1,629
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SN HSUED
Hu: HSALS 5BF 29
Sl HEAE RNz

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
206 M= Hl 10,575 4,383 6,192
01 =8l 10,575 4,383 6,192

O =3J& ¢ BEXAINE &0 HHEAM 2 2,000
O =371 ¥ EX23J1% &0 H=s72e
500,000& * 2 = 13 1,000
O FZII® YL 2XFIY B0 5
(=X, M=H)=7 2,000
500,000& * 2J4 4 * 23]
O JIAME(BLUEL 4F) 75,000& = 5& 375
O 2=3sx 45 ¢ 1,480
o g 5,000& = 10kg*2oH 2« 108 1,000
o S 4,000& *6kg*21 2~ *10& 480
O HIE=TM Y (BHEQ 48) 1,000
O 38 ¢ S BTN R (ESAHEL
3E) 500
O &IAI JAH A2F P
50,000& = 5& « 43| 1,000
O x=Z237% P (LolZdxe 78) 800
O AL =2F o8 =dHAE P
140,000& * 1& » 33 420
405 TtobFH S 3,250 5,280 A 2,030
01 XAt 22 S| 3,250 5,280 ~2,030
O RUESHAI 2 650,000& =« 504 3,250

AUds2 FXES 276,210 275,295 915
201 Let24d| 263,510 154,245 109, 265
01 At 22/l 32,190 20,870 11,320

O 28 HES(AUMsSZ & FIHE) 4,000
O Ro13d 24 220,000 * 123 2,640
O B2 Z2E€&X 7+ 25,0008 * 208 500
O s&¥a2d & 32858 7Y 5,160
o st&X 36,0003 = 5&HA = 128 2,160
o MJISE(1004 ) 4,000& * 50& *» 12€ 2,400
0 JIEHEAES & A2E 600
O g8 &7 MEHI 60,000& * 43 240
O ot&EJ &9 &= 1,600,000& * 14 1,600
O AMES UG FLUAMFH EF
12,000,000& * 12l 12,000
O AN&ES oty A HIIotAE F 2 (6HeHD])
1,200,000& * 13/ 1,200
O A=5Y4 FHIIhMEH A (BHBHII)
1,200,000& * 12/ 1,200
O 233t E4 20,0003 *110E 1 2 *13] 2,200
O M= HA (& -o5t8HIl)  500,000& = 23| 1,000




SN HSHED
AN O

M HMESAMES 288 29
&2 MSALE sR2a (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O AdU3J18 =3 === 400,000& * 14 400
O &2UW3J1& 2elk wsHl 50,0008 * 13 50
02 =224l 231,320 133,375 97,945
O dEsXb(EZ2232E)
4,000,000& = 14 4,000
O 4 & SH+EEZ B2
200,000& =« 4CH 800
O ¢ - e8] g2 100,000 * 5CH 500
O HIINES A 3,300,000& = 13l 3,300
O &J1J1=2 &3l 90,000& * 13 90
O Aot E 3| 50,000& = 1=l 50
O Sng ¢y FX2eltl
1,500,000& * 14 1,500
O Hlagd) d2H(FR)
1,220 x5& *22| & 453 = 1TH 549
O SEYSAE(YT) RNES 500
O R23tHet sXl2eldl 1,000,000& * 14 1,000
O 2SS4 & RAS A
5,500& * 5JH 4 * 12& 330
O HIIB(LetE) 165,557
oJlEg 8,320& * 700kw » 12& 69,888
o=, 783 * 54,000kwh * 5& 21,060
o 8 109& » 61,000kwh * 33 19,947
o AE 109& = 70,000kwh * 43 30,520
o 2ItAl 141,415,000& = 1/10 14,142
O s2J & A8 dtNst 2=
12,0002 * 128 144
O dEMIIF RAES 100,000& * 108 1,000
O AdUNds2 dot=E 23 62,000
206 M= Hl 5,500 4,550 950
01 = tl 5,500 4,550 950
O &IE= M7 (E&S 2 98)
10,000& = 108 = 2004 2,000
O ag4&d EXM 500
O 88 % s8¢ BT 2 (Lg&3H02 2
2E) 10,000 = 5& = 200K 1,000
O NES88 FYU(ELUE UHESQ 4F)
50,000& = 58 * 84 2,000
405 XHAHE S| 7,200 16,500 9,300
01 AL EFFHSHI 7,200 16,500 A9,300
O 8320 #¢ 900,000& = 5CH 4,500
O EraA 2¢ 90,000& = 30CH 2,700
BHAAM UM S22 SR 184,460 170,990 13,470
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SN HSUED
Hu: HSALS 5BF 29
Sl HEAE RNz

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
101 14 Hl 27,914 27,238 676
04 JIZHHZ22XREES 27,914 27,238 676

OE, o ZHY L o=y
8,800& * 1H » 90¢ 6,192
O =XZ2 AlLR2 YAAY ol
68,8003 * 1H » 90 6,192
O BHEQIE 2ZAIE = 15,530
o ZAt=g 14,0003 *5A| 2t+1H «149L 10,430
0o PN REsdsY
14,0003 *5A1 2Hx 1«60 4,200
o ZAt EIEZ 900,000& = 1H 900
201 LBt 125,756 128,472 N2,716
01 At 22l 22,411 19,027 3,384
O =& 28 & 2ESE 7Y 6,424
o MEJISE(1004 ) 4,000&8 * 50& » 12€ 2,400
o &K 36,000 = 7&Kt = 128 3,024
o JIEt EAEF ¥ AEE 1,000
O 820 dii= 40,0002 = 200 123 960
O R &Hl 49| 150,000& * 12& 1,800
O tEEZ 32 M= 200,000&  12& 2,400
O Bl 288X +& 25,0008 » 208 500
O FIlet® el (e 442
357,170& = 123 4,287
O Md== #E& 500,000& * 23 1,000
O Agrorm@el (g 29
300,000& * 12043 3,600
O agotd2e| Xt S| 200,000& * 12 200
O GtEI ¢9Aa=s 1,000,000& * 13| 1,000
O gag ZFAE 60,0003 * 43 240
02 23=24gHl 103,345 109,445 A 6,100
O HIIB(LetE) 75,534
oJlEg 8,230 * 156kw * 12& 15,407
o=, 643 * 48,000kwh » 5 15,360
o 8 100& * 49,000kwh * 33 14,700
o AE 100& = 58,000kwh * 43 23,200
o 2ItAl 68,666,5602 * 1/10 6,867
O HiarAUMS2(BWELE HOEZ )R N2 4,000
O dot==ERe3 4,000& = 400E ~ 12& 19,200
O AetME 3l 50,000& » 1 50
O &dJI22)] "2+ 1,000,000& * 13l 1,000
O oottt &X 22 750,000& = 13l 750
O &s4d |X 2 WHM=cl
500,000& * 13 500
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SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O Ao Z4LHI Hi2 X2
200,000€ = 3CH = 1/2 300
O nsggad=2 1,011
o HHAHA LW X S 2
550! 3,826 M *0.96%50/100 1,011
O S XFEE U JIZ2RE A2 B
1,000,000& = 14l 1,000
206 M = Hl 5,790 5,280 510
01 X2t 5,790 5,280 510
O &8IJIM= 1,390
0o §ES TXA ™I (32w x 2S5 )
62,000 * 104 620
o & XD 30,000& * 2& * 204 120
o dMJIEx+E XM7Y 50,000& = 5& 250
oMY WX 8,000& = 504 400
O HOoIE=EE A=27¢ 10,000 * 40% 400
O 88 2 SHSBLTPY(LSH02225)
10,000& * 3Z * 104 300
O 8eE=sM A& 20,000& * 254! 500
O NsgE3 ¢ 2,000
o HHECIHEH U E 50,000& * 204 1,000
o HHEQIEH nNa 5 20,000& = 504 1,000
O &4 dHl= 100,000& = 5& 500
O Ad=s2 HHEQE 2ol ol 2¢ 700
401 Al HI L £ 0HHI 25,000 10,000 15,000
01 A& HI 25,000 10,000 15,000
O HXAIR A &Il Wi
25,000,000& * 1CH 25,000
ol RS> 9,508 9,172 336
201 et A bl 7,708 7,372 336
01 At 22l ] 5,408 5,072 336
O s&a 29 2 HA88 2¢Y
(e AHSRE 1,428
o St& X 36,000 = 34X x 68 648
o MYIJI=E (1002 ) 4,000& * 20& x 6 480
o JIEt HEAE3 L A2F 150,000 = 23| 300
O &=z &2l 35,000 * 104 ~ 12&€ 420
O foAHSH(LEHR, AYUESH)
90,000& * 204 « 128 2,160
O ZEAMNE 600,000 = 23| 1,200
O 283X A 20,000& *10E 10 A *13] 200
02 352494l 2,300 2,300 0
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3 MEANES 588 29
ni
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S AL A2 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O YEHAILdZ N RANES
2,300,000& * 13 2,300
206 M = Hl 1,800 1,800 0
01 & bl 1,800 1,800 0
O YEBAd Ex=XHRY(HX S) 500
O AL S3(24)2E 2Y(AY3D S) 1,300
o7& RAE= 167,869 73,223 94,646
101 2124 1| 4,743 5,043 A 300
04 JIZtH2ZXNEE S 4,743 5,043 A 300
O o7& =4 olx=&d
80,0003 *3Y 2 *33] 1,440
O OFRZ0I2E HIOIAZE(EEYTHERN)
68,800& + 18 « 123 826
O 572&, clS072& H=x
68,8003 *4H 32 x33] 2,477
201 LEt2 Y| 50,976 66,030 AN 15,054
01 AR 22| bl 12,220 13,730 A 1,510
O siza 29 L HABE 7 620
o MY JIESE(100L ) 4,000& = 10& = 8& 320
o JIEt HAEE L A2F 150,000& = 23| 300
O XIS EIIEH HIBA =2
1,000,000& = 13l 1,000
O &ojordatel thas+==+=2 750,000& = 12& 9,000
O M=x Ea 200,000& * 23] * 20 2 800
O 233X Ha 20,000 * 20& * 20 A 800
02 33294l 38,756 52,300 N 13,544
O Ot7& 4HE dUzE 2IIXIAI 1,100
O HIRSB(0FFZE L 2S00 2 204 &«
ESE | 33,656
o JlEz 7,220& * 220kw * 12& 19,061
o 8,02 85& * 3,000kwh = 5& 1,275
o HE 1143 * 20,000kwh * 3& 6,840
o "= 1143 * 7,500kwh * 48 3,420
o FIHA 30,600,000& = 1/10 3,060
O OF7& sXaelbl 2,000,000& * 14 2,000
O Of7& d2® g2 89
2,000,000& * 14 2,000
206 TH 2 HI 2,150 2,150 0
01 M= bl 2,150 2,150 0
O g 4,000& * 50% 200
=1 6,500& * 300%E 1,950
401 Al HI L 2 0HHI 110,000 0 110,000
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01 Al&H| 110,000 0 110,000
O 0t 234 02U E32M T HZ2A
30,000,000 = 14! 30,000
O 0k7% 12Y HS2X &%
80,000,000 * 14! 80,000
OB ENEE A2 8,668 8,934 N\ 266
101 124 4| 6,192 5,854 338
04 JI2ZtHIZ22NEES 6,192 5,854 338
O &0fe S A2 JI2H22 X
orgel 68,800& x 1€ » 90 6,192
201 et 9| 2,476 3,080 A 604
01 AF 22| H| 776 1,380 A 604
O 3t&a 29 ¥ 34085 7Y 776
o MAIJIZSE(1002 ) 44,0002 = 12& » 12€ 576
0 JIEIEAESE & ARE 2¢ 200
02 Z2=2=24%4| 1,700 1,700 0
O HHUSEHSAIE S22l
1,700,000 * 14! 1,700
SAH=ESE A Ex 1,292,632 850,977 441,655
101 124 H] 50,541 45,353 5,188
04 JI2ZtHIZ22ANEE S 50,541 45,353 5,188
O SN2 A2 JN2AH2EX 12 36,781
o0 E,¥ 25 sFAEH|
68,800 * 1¥H = 116Y 7,981
o MIx=&Y o 80,000& 10 x5 x4 3| 16,000
0o SoUAEs Ha o2y
80,000& »8H 22 x103] 12,800
O &0 22 o 13,760
o A0l (s 5)
68,800& * 2% x 100¥ 13,760
201 LBt Y| 179,628 168, 161 11,467
01 AP 22| d| 36,474 34,040 2,434
O MEBESESE FY 694
o EYH 198,000& = 34 594
o MNREE 100,000 = 13| 100
O g&s 29 & A28 8,920
o St&X 36,000 = 10&tAF « 12€ 4,320
o MIJl 2E(50¢L )
2,000& = 150& * 12€ 3,600
o JIEt HAEE 500,000& * 23| 1,000
O ga&sg 3 MEH 50,000 = 43| 200
O |S2X MHEH| 25,000& * 1000 * 23| 500
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g JHI::}\I/\*_J =88 24
&2 MSALE sR2a )
SA - BB B (BA) - MM - BHES il 2
O Ro3d 24 150,000& » 1A « 12& 1,800
O F2J1(S=0) 22U
20,0002 * 404 * 122 960
O Zadl(240H TREPUE LS
16,0002 * 404 » 122 768
SoEs SoH(AT Y U 2R
8,000,000& = 14l 8,000
F=ZANE =2IMN =2 2,112
SLHsS2 50,0002 = 83l 400
SANUSEH 50,0003 = 83| * 2 800
B &HM = S & 50,000& = 83| * 2JH 800
F=EMHESE 14,0008 * 83l 112
O M==X(2d3) 22N =2
50,000& * 30H A 150
O 243 A8 22=2 7 50,0008 * 10H 500
O HI|HMH A 750,000 * 123 9,000
O E1g FJ1& == 920,000& = 13l 920
O M=x 2843 330,000& * 23 660
O s9ds AA23 35,0008 » 20HA » 128 840
O & 0l=0IAl ot = 50,000& * 53 250
O Of&101= 0l Al AN 422
200,000& * 13 200
23224l 143,154 134,121 9,033
O 892+ A& o 22,000
el = = =J| WA
4,000,000& = 14 4,000
o LEDZ=Z WXl 8,000,000& * 14 8,000
ZEDJIE Wi 10,000,000& * 14 10,000
T 2 22 (HsgZ)
4,000,000& = 14 4,000
HAHD| = 150,000 * 4CH 600
=8 150,000& * 43 600
HEeEANds(2sI17) =4
100,000& * 63 600
0iglol =012 o 300,000& =« 14 300
HHE OIEX 5 7
1,420& = 44 = 1103l 625
LESAE A2 800,000& = 14 800
HIINEE = 800,000& =« 14 800
O &8IIRe3 68,772
oJlE2= 8,320& = 600kw » 122 59,904
o AMEEZ 109& = 2,000kw » 128 2,616
o 2ItAM 62,520,000& * 10% 6,252
O &2 H 3t 6,859
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O Hot+=Ex23 34,800
o ELHESE(4=5) 27,800
0 UBEL(ZYE=) 875,000&  8& 7,000
O gx= HadZHMa NIIRE=S
100,000& * 103l 1,000
O 2lEel 0EE WS (FAUNRE)
50,000& = 12& 600
O SSs&4 e US|
5,500 * 3 A + 12& 198
O Z&XHII| =4 100,000& * 6 2 600
W] 12,463 12,463 0
01 =8l 12,463 12,463 0
O Zozd 22 4,910
o ¥o=s 2 0tA3 5,000& = 103 50
o &, &ZH 25,000& = 1398 « 103l 3,250
o M ¥ JIE 25,0002 = 404 1,000
o RE& % &Hl S 610
O #Zozg(Eag) 10,000& * 100 1,000
O dIIM= 3,006
0 WALIES I (150w) 25,0002 = 2004 500
0o DAULESE 2-FII(150w) 25,0008 * 20H 500
o 2diH 16,000 * 7H 112
o HEEe0E & (400w) 30,0008 » 20H 600
o HIEZE2tolE - I (400w)
30,000& = 2004 600
o MXItAl O J| (40w) 17,0002 1204 204
o SEXEII(IB) 50,000& = 5K 250
oY #E(MS) 30,0002 * 8K 240
O E+8 M- 400
o ZEHCE 2 98 40,000& = 108 400
O &I & JIH 37 7Y 250,000& = 13l 250
O ME88 7Y (Z43Y 9 28) 580
O st&a Mz 50,000& * 4& = 33 600
O =2ZA4 BAE LR P (SLd=ES S)
1,420& = 854 = 103l 1,207
O &g98 3R 1,220& = 3.84 = 1102l 510
401 AIEBIZ 201 8I 1,050,000 625,000 425,000
01 A& Bl 1,050,000 625,000 425,000
O SLHES3F =X 242X €2 M 750,000
O SLHSSY TEE AXZEO WM SA
300,000,000& * 14 300,000
b S3¥ SN E= 456,643 148,145 308,498
jeilal.]] 29,985 28,556 1,429
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M HMESAMES 288 29
&2 MSALE sR2a (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 JIZHHZ2XREES 29,985 28,556 1,429
O destsd 2cl 92 18,164
oJlEa 68,800& * 1¥ » 220 15,136
072 FL+¢ 68,800& * 19 » 44 3,028
O HiAH=Z2d |22 A2y 11,821
0 £.¢,35<2 33
68,800& * 1H » 116 7,981
o WM=xg o2 80,0003 *4H 42 33| 3,840
201 L2l 94,598 89,329 5,269
01 At 2t 2l 16,444 18,412 A 1,968
O =& 28 & F2ES 7Y 10,744
o st&EX 36,000& = 174X « 123 7,344
o MYIISE (504 ) 2,000& * 125% * 128 3,000
o JIEt EAES 100,000 * 43| 400
O g&&8 7 MEH 50,000& = 43| 200
O fo3dl 849dl 150,000& * 1HA » 128 1,800
O H4J Ba(YUE, 301 S)
35,0003 = 2CH » 12& 840
O HIIHHAFA W= 180,000& * 12& 2,160
O E140 EIIEA =2 500,000& = 13l 500
O OE0I=0IAE EIIZA =2
200,000& = 13l 200
02 =224l 78,154 70,917 7,237
O ZHl+4(33) 280
O HSANLS(2SII7) 24
200,000& * 3& 600
O ogol s01217 =& 500,000& = 14 500
O &sAld |X2el 400,000& = 14 400
O LED && & Sl 280,000& * 63 1,680
O A8AIE |X2el 250,000& = 38 750
O HdIRS 41,125
o JlE2= 8,320 = 250kw » 12& 24,960
o MEBZ 109& = 9,500kw » 12& 12,426
o 2ItA 37,386,000& * 10% 3,739
O i &3 M2l 3,071
O &ot=& 23 2,350,000& = 123 28,200
O olggotg MEQ3 (XA L 2A)
50,000& = 123 600
O MWEYHZ 2IILXIM 7,500,000& = 10% 750
O SSs&4 A A SAH|
5,500 * 34 + 12& 198
206 M= Hl 11,760 11,760 0
01 =8l 11,760 11,760 0
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SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O =dAE A5 E 2 10,000& * K0S 500
O Z0I33a 22 2,550
o = & OtA3 5,000& * 103 50
o UM ¥ OJlEt 25,000& * 20¥ * 13| 500
o A&, A=A 25,0008 * 10 = 43| 1,000
o REE, EHl S 100,000& = 1094 1,000
O ZorY(2ae) 10,0008 * 100= 1,000
O &Iz 1,650
o HEEEI0IE &= (150w) 25,000 * 7K 175
o HIEEECI0IE &= (400w) 30,000& = 7JH 210
o 2ciH 15,000 * 204 300
o MXtAl oFA J| (40w, 250w)
17,000 * 1504 255
o FEXHI|(3B) 50,000& * 24 100
o s (HeZ) 30,000& * 404 120
o MY I 8,000& = 304 240
o DYUEE I (150w) 25,000& * 104 250
O B8 N7 400
o ZEHCE 2 7& 50,000& = 8& 400
O HE2E RU(E712Y 2 48) 990
O HUAZE FAF & 15,000& * 60 900
O =) sgs ¢
1,420& = 1002l El * 53] 710
O MESsE Atz7e 18,0008 * 170% 3,060
401 AlSHI L 2T 320,000 18,500 301,500
01 Al& H| 320,000 18,500 301,500
O iMtH=sd TS AXXC Wi SAt
120,000,000& * 14 120,000
O otASaY BLALY 200,000
o LEDREUX=YI|IZAX 150,000
0o SEAAE AX| 50,000
405 Ko SHI 300 0 300
01 JHAHE =2 ZF S H 300 0 300
O AMNRE BHA 2 300,000& = 14 300
SESIMHEH SANES 158,400 104,144 54,256
307 212t0| & 103,400 98,600 4,800
05 A2t E 2 103,400 98,600 4,800
O 2t e 2d 3l 103,400
401 A EHI L L0 45,000 0 45,000
01 Al&H| 45,000 0 45,000
O SE SSHNSHH A2 SA
45,000,000& * 14 45,000
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&2 MSALE sR2a (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
405 XHoHF S HI 10,000 5,544 4,456
01 AL SE S| 10,000 5,544 4,456
O 2% SHHSHH AU HMSB & - )|
-2 (3Ch) 10,000,000& * 1CH 10,000
SANUSERAE > 93,442 105,081 A 11,639
101 @124l 26,923 28,785 21,862
M4 II12HHZ22NSES 26,923 28,785 21,862
O 3ao=2d 14,999
oJlEza 68,800 * 1€ = 180¢ 12,384
0o fF=sd>d 68,8003 * 1H » 38 2,615
O ZSAUZE KAA2 JIZEHI X 21| 11,924
0 &,8,55¢ ZFH|
68,8003 * 29 » 57 7,844
o HIZE (IS Ui, 2T AN AL
80,000 x2H » 12 «123] 1,920
o =&Y Ry 80,0003 *3H 32 33| 2,160
201 Yet2 2t 59,128 58,905 223
01 At 2t 2/l 11,796 11,737 59
O &y 23 & FAEE 7Y 6,544
o St&EX 36,0003 * 7&K = 12& 3,024
o MYIIESE(504 ) 2,000& * 130& * 12€ 3,120
o JIEt EAES 100,000& * 43| 400
O Reodd 849l 110,000& * 128 1,320
O 894 AF2E 40,0008 » 2HA = 128 960
O &It TAN = 156,000& = 12& 1,872
O S0 JIEA =5 480,000& = 13 480
O F%Il 2e2(LUz, 01 S)
35,000& = 1004 » 12& 420
O HEO0I=0lAlE BIIZA ==&
200,000& * 13 200
02 =224l 47,332 47,168 164
O JIH &EHl =4 100,000& * 43 400
O HigdE= AE2 s=4d(2HE, E8XEFII)
1,000,000& * 54 5,000
O HdIR2 25,826
oJlEg 8,320& = 150kw » 12& 14,976
o AB= 109& * 6,500kw » 12& 8,502
o FItAl 23,480,000& = 10% 2,348
O &3 M3 bl 4,006
O MsAds(2s8I17 8) =4
100,000& * 53 500
O JIAH & HIANEES FA 2L
1,500,000 * 14 1,500
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O Qo s M2 200
O Aot 223 800,0008  12& 9,600
O Z2ZstaAal otaldl DS AlY|
5,0008 * 20HA = 12&€ 120
O &d3tx A 18,0008 ~ 10& 180
206 M = dl 7,391 7,391 0
01 24 7.391 7,391 0
SZANE ASHE 2 10,0008 * 1005 1,000
O orM3t FE el 2,750
o &5, AT 25,0008 * 80 2,000
o YYH L JIE 25,0002 * 30 750
O 8IMB(LUAUHES #Z 2 78) 1,000
O B2 UM FU(XZSHUE 9 48) 200
O S&A Ad M2 100,000 = 4= 400
O HEsE R2A(E7 2Y 2 48) 700
O 8dY9s 08X s 2
1,420& x40 123 x6& 409
O 23 &4 9,20 JIH4AH netdty
290,000 * 204 = 14 580
O gdd9sg 28 ¢ 1,220 x4) *123| 6 & 352
=CAHEE2E FAES 65,934 61,716 4,218
101 Q121 H] 26,043 24,795 1,248
04 JI2ZtHIZ2 2 NEE 26,043 24,795 1,248
O #dAo029 14,999
o ez 68,800 ~ 1 = 180 12,384
IR E=E=ATE =, 68,800 * 1 » 38¢ 2,615
O x4 N33 A2 J|2tH22 A
ol 11,044
o E,¥ 25 sHFAFH|
68,800 * 28 x 57 7,844
o Mlx=&Y o 80,000& x5 x4 x23| 3,200
201 Yete | 36.876 33,906 2,970
01 AP 22| H| 8,708 8,748 AN40
O 3t&a 29 ¥ H3AS8E 7Y 4,000
o & 36,000& = 5&HXF = 128 2,160
o MAIJl EE(50L ) 2,0008 * 60 » 12& 1,440
o JIEt HEAEE 100,000& = 43| 400
O @as &3 MEH 50,000& = 43| 200
O 290o1dHl 49| 150,000 = 12& 1,800
O &40 &2l 35,0008 = 12&€ 420
O &IIHEAAI &= 174,000& ~ 12&€ 2,088
O HEOI=0lAIE EHIIZEAI =38
200,000 = 13| 200
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B (BH) - NRAY - By il 2
02 3322l 28,168 25,158 3,010
O HEALE(2SIR S) 4

100,000& * 43 400

O Z3Ad |X2el 300,000& = 14 300

O 4AEAIE |X2el 100,000 » 2& 200

O &8IJIRe3 17,913

oJlEs 8,320& = 150kw » 12& 14,976

o ABZ 109& = 1,000kw » 128 1,308

o 2ItAl 16,285,000& * 10% 1,629

O &S H s bl 2,023

O BESTA ANY RHASAY

5,500 * 2JH 4 + 12& 132

O &dot=& 23 600,000 * 123 7,200
206 M= Hl 3,015 3,015 0
01 MHZ 4l 3,015 3,015 0

O &IIME FU(HLHI0E & 2 78) 1,515

O 28 U L (ZEHAE 2 95) 400

O H=Eg88 2L (5+ 22 2 58) 800

O st&4a dHl M= 100,000& * 33 300
HHR2IZH(MSHED) 48,868 45,208 3,660
Z i 48,868 45,208 3,660
=23l 48,868 45,208 3,660
201 L2l 36,828 37,108 A 280
01 At 22l 26,264 26,544 A 280

O EJ3F 1=l 280,000& = 11H 3,080

O EMEXN 7L 19,8002 = 158t A » 12& 3,564

O ZglH 29 110,000& = 304 = 12& 3,960

O JIEt ArR 22|l 15,660
02 8323l 10,564 10,564 0

O g2E R 4,164

o ®*=Hl 1,220 »60L*2CH 123 1,757

o XS XHA 407

o Xt ==&l 1,000,000 * 2CH 2,000

O sedgs AFEZ(6JHA)  200,0008 + 128 2,400

O MESAE MEZ FIIXA 4,000
202 odl 2,880 2,880 0
01 = LH 4 bl 2,880 2,880 0

O 3ZFE ws0dl 20,0008 » 1298 = 12& 2,880
203 R =&l 5,160 5,220 A 60
04 ENSIHRF=EHI 5,160 5,220 A 60
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